
Paper 2 Elizabeth- What knowledge would you include for each question? 

 

Explain why the Catholics were a threat to Elizabeth [12] 
 
 
 
 

 

Explain why the Puritans were a threat to Elizabeth [12] 
 
 
 
 

 

Explain why Mary, Queen of Scots created a problem for Elizabeth when she came 
to England in 1568 [12] 
 
 
 
 
 
 
 
 

 

Describe two features of the Elizabethan religious settlement [4] 
 
 

 

Describe two features of the Revolt of the Northern Earls [4] 
 
 

 

Describe two features of Elizabethan society [4] 
 
 

 

Describe two features of Drake’s attacks on Spanish shipping and trade [4] 
 
 

 



Explain why Phillip II launched the Armada against England in 1588 [12] 
 
 
 
 
 
 

 

 

‘The decline in Anglo-Spanish relations in the years 1569-85 was caused by 
Elizabeth’. How far do you agree? Explain your answer. [16] 
 
 
 
 
 
 
 

 

‘The religious settlement of 1559 did not solve the problem of religion in 
Elizabethan England’. How far do you agree? Explain your answer. [16] 
 
 
 
 
 
 
 

 

‘Relations with the Native Americans were the main reason for the failure of the 
Virginia colonies’. How far do you agree? Explain your answer. [16] 
 
 
 
 
 
 
 

 



 


